Satellite dish

4x M6x14 screw
4x M6 nut
Feed arm

M4x14 screw Plastic holder

M6 nut
2x M6x50 screw, 2x M6 nut
4x M6 shim
Faedholder 2x mast scallop, 2x U-bracket
_4x M8 nut, 4x M8 shim
2x M6x40 screw
2x M6 nut

Mount holder

Mounting instructions

1. Attach the plastic holder to the satellite dish

2. Screw the feed holder and the feed arm together

3. Putthe preassembled feed arm through the hole in the satellite dish
and screw it together with the plastic holder

4. Screw the mount holder and the plastic holder together

5. Mount the antenna on the mast or on the wall bracket by means
of the mast scallops and the U-brackets and adjust it

£ R ]

T

24

il
= - --"‘Il
P [~ 2
o = ] ila 5
.-'é "{N
e .___- - e r
T ———— _'ﬂ"'"lll III & I_:r
= . | ¥ | :". | ik
e e W e .
- & -
- Lat

Package contents

1x satellite dish

1x plastic holder
1x feed arm

1x mount holder
4x M4x14 screw
2x M6x50 screw
2x M6x40 screw
8x M6 nut

4x M8 nut

4x M6 shim

4x M8 shim

1x M4x14 screw
1x M4 nut

2x mast scallop

2x U-bracket



